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Worksheet 6: Quantifiers, Negation.
Let us make some notation: let .S be the set of all students in the class,
and for every student s € S, denote by F(s) the set of all friends of s. For a
e person p, let a(p) be the age of p. ——
( The previous worksheet:

1. Using this notation, write in symbols the statement: “There exists a
student in the class all of whose friends are older than him /her”.

We. caw ‘k“\\\‘- oot Shudewts T g e Sd’— Seft sf all Studets A he class
=1

a/sﬁ—uute,...t) we conw tal about oge o s : Q,-_.CS}

2. Make similar notation and then write symbolically the statement “There fanetiow

QZL s '(Ei( exists a tree in Stanley park such that all the neighbouring trees are at
least as tall as this tree.”
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3. Is this statement about Stanley park true or false?

New problems

1. Negate the statement in (1). \/

o 2. Write the statement ‘Jyo € R,Vz € R, 2> — 2z + 3 > 7o’ in words. Is
this statement true or false? Write its negation both in symbols and in
words.
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. Write in words, then negate: Let P be the Sek of all primes.
VN > 0,dp € P,s.t.p > N,/p—|—2 e P.
9(%\@.
. Negate the statement:

Ve > 0,36 > 0,Vz : |z — a <(5i|f(af)—f(a)| <€
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. Negate the statement: Vx

VN >0,3M > 0,YVz : z > M, f(z) > N.
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